Yy +d = Pip + Pim + miss(n)

Reconstruction version 1

A.
B.

No Cut applied. (Full data)

Cut on Confidence Level , Missing Energy, Missing Mass Squared, Vertex cut (beam), Beam
Energy. (12 % of data)

Cut B + Coplanarity cut (12 % of data )
Cut B + Coplanarity cut + Invariant mass of pipproton and pimpiproton (12 % of data)

Cut B + Coplanarity cut + Invariant mass of pipproton and pimpiproton + |t| cut (Full data of
Deuteron)

Cut B + Coplanarity cut + Invariant mass of pipproton and pimpiproton + |t| cut + |u| cut
(Full data of Deuteron)

Cut B + Coplanarity cut + Invariant mass of pipproton and pimpiproton + |t| cut + ucut+ dE/dx
cut (Full data of Deuteron)



Invariant mass of PipPim (Kinfit)
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Missing Mass Squared (GeW/c®)®

Missing Momentum(GeV/c)

A)

Missing Mass Squared vs 2Pi
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A) Without any Cuts

Missing Mass Squared Missing Energy
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B) Cutson CL,ME ,MM2,BE, Vertex

List of Cuts applied

0.3 < MM2 < 1.3(Missing Mass Squared)
0.3 < ME < 1.3(Missing Energy)

C.L > 0.001
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B) Cutson CL,ME ,MM2,BE, Vertex
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B) Cutson CL,ME ,MM2,BE, Vertex

PipPim vs PimProt (Kinfit)
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B) Cutson CL,ME ,MM2,BE, Vertex

Missing Mass Squared Missing Energy
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B) Cuts on CL,ME ,MMZ2,BE, Vertex

Missing Mass Squared vs 2Pi
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dE/dx {keVicm)

dE/dx {keVicm)

B) Cuts on CL,ME ,MMZ2,BE, Vertex
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C) Cuts B + Coplanarity

List of Cuts applied

0.3 < MM2 < 1.3(Missing Mass Squared)
0.3 < ME < 1.3(Missing Energy)

C.L > 0.001
BeamEnergy > 6.5 GeV

52 cm < Zvertex < 78 cm
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7P Invariant Mass {GeV/c?) (kinfit)
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D) Cuts B+ Coplanarity + Invariant mass of
PipProton and PimProton

List of Cuts applied

0.3 < MM2 < 1.3(Missing Mass Squared)
0.3 < ME < 1.3(Missing Energy)

C.L = 0.001
BeamEnergy > 6.5 GeV

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)
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E) Cuts B+ Coplanarity + Invariant mass of
PipProton and PimProton and |t| cut

List of Cuts applied

0.3 < MM2 < 1.3(Missing Mass Squared)
0.3 < ME < 1.3(Missing Energy)

C.L = 0.001
BeamEnergy > 6.5 GeV

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)
PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2
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E) Cuts B+ Coplanarity + Invariant mass of
PipProton and PimProton and |t| cut
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E) Cuts B+ Coplanarity + Invariant mass of
PipProton and PimProton and |t| cut

Missing Mass Squared Missing Energy
MissingMassSquared MizsingEnergybeasursd
o7 40000

Eniries 2.5%8 Entries 2.58

Mean KMean

16000

S1d Dev

35000 : S

Sid Dewv 0.2736

14000 - S— T SR S—.——

- i i é i i é é 30000
12000 5 e e . B

25000

10000 e — AR SUNUN STSISUIONS: B

C 20000
BGUO NN ................ ............... ................ ____ ................

co00 = — - — SRS FVSTRNEN NV S—— 15000

4000 [ 10000

2000 5000

D L1 Il | | | | 11 1 | L1 1| I 111 | | 111 | | | I L1 1| I L1 1 | 0 Il I | N | I L1 1 1 | L1 1 | | L1 1 1 | L1 1 |
0 05 1 1.5 2 2.5 3 35 4 45 0 1.5 2 2.5 3 35 4
Missing Mass Squared (GeVic®)® Missing Energy (GeV)

Missing Momentum Missing Constrained Momentum

Missinghomentumi Missinglan:

Eniries

: : : : 59484Tes07 40000
3900@_ ......................... ......................... Mean o
: z : : o

Eniries

Mean
S1d Dev

25000 30000

Egmc Esmc ...................... . ......................... \f ......................... \ ........................

20000 3 —— — et ——
15000
-Ismc ....................... . ......................... -.f ......................... \ ........................

10000 1QOOQ oo — R —

000 . S . Y S S S S—

4 5 2 3 4 5
Missing Momentum (GeV/c) Missing Meutran Momentum {GeV/fe){constrained)



P Invariant Mass (GeVic®) (kinfit)

7P Invariant Mass (GeVic®)(Measured)

3.3

25

E) Cuts B+ Coplanarity + Invariant mass of
PipProton and PimProton and |t| cut

PipPim vs PimProt (Kinfit)

2PivsPimProt
| Eniries 25848472407
Mean x 1.247
Mean y 2.04
Sid Dev x 04588
Std Dev y 0.5185

107

| |
T4 18 18 2
m'w Invariant Mass (GeV/c?) (kinfit)

) 2PivePimProt_Measwed
- Entries  2.584847e+D7
Mean x 1.456
223
05914
0EEET

L L : ; u | Meany
S1d Dev x
Std Dev y

10!

1.5 2 25
wn Invariant Mass (GeVic®)(Measured)

a*P Invariant Mass (GeVic®) (kinfit)

7P Invariant Mass (GeVic®){Measured)

3.5

25

PipPim vs PipProt (Kinfit)

2PivsPipProt
2 :
i i Entries  2.534847e+07
| Mean x 1.232
Mean y 2222
Sid Dev x 04808
Std Dev y 0.4644

10"

1 | 11 .
16 1.8 2
(GeVic?) (kinfit)

1 I 1
1.4
' Invariant Mass

PipPim vs PipProt (Measured)

2PivsPipProl_hMeasured
TP, -
-’5%3- Entries 2 584847e+DT
B o Mean x 1.456
i Mean y 246
05916
D.E0ES

10"

1.5 2 25
wn Invariant Mass (GeVic®)(Measured)



E) Cuts B+ Coplanarity + Invariant mass of
PipProton, PimProton and |t]| cut

Missing Mass Squared vs 2Pi
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F) Cuts B+ Coplanarity + Invariant mass of
PipProton , PimProton,|t| cut and |u| cut

List of Cuts applied

0.3 < MM2 < 1.3(Missing Mass Squared)
0.3 < ME < 1.3(Missing Energy)

C.L > 0.001
BeamEnergy > 6.5 GeV

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)
PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2
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F) Cuts B + Coplanarity + Invariant mass of
PipProton , PimProton,|t| cut and |u| cut
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F) Cuts B+ Coplanarity + Invariant mass of
PipProton , PimProton,|t| cut and |u| cut
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G) Cuts B + Coplanarity + Invariant mass of PipProton,
PimProton, |t| cut, |u| cut and dE/dx cut for pions

List of Cuts applied

0.3 < MM2 < 1.3(Missing Mass Squared)
0.3 < ME < 1.3(Missing Energy)

C.L = 0.001
BeamEnergy > 6.5 GeV

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)
PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2
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H) CutsE, Cut F and cut G comparison for Inv. mass
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m* Invariant Mass (GeV/c?)(Kinfit)




